EARAROBREBRT —5 XN—ZXBISH—F 2024578288 (BH) 8EHAESH

B8 C2 -3 C2 UHSH—i% ‘(fﬁ} 5 ‘I%EH?’JFE‘?] - | & 13000 B
[AXE%E]) 1 &:400,000 M ~ 2%&:128,000H  33#%&:72,000MF  43%&:48,000H  53&:32,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
*+/05UF 5 quEA 1:25.6 2-2-2-1 |39.1| - 1 | 3%4 iﬁgg ()
. (-) 2l
RFZJELLY b BIISR-I ®2 s 3
5 = o s 4 | RHEEC 1:25.7 3-4-4-4 39.0| — 5 467 | PEHE (£8)
ST I %.0 3/4) o |TIES
RiVEWYA— BiFAL AN
“ ~3 4 5 | AKX 1:25.8 6-6-5-5 |38.8| ~— 7 461 | NBEHK (1EE)
,U\.J_QQJJF'_ oy 5.0 (72) 1) | ElisET
RNZ—ka1—R B:AUFTRFAI— NE A
IALLATy RTY o4 E'?,'%’ﬁ 1(:25.? 1-8-7-6 |38.6| — | 8 | 470 iggggﬁ)
: Zl= C
R:RIT4 BFIVIVRIAN ) | Frmuis
= -~ s 4 | BE} 1:26.0 5-3-3-3 [39.4| -— 2 463 | BlIIEX (EE)
5181077 A774—> . A51.0 ) (5 | (@ JPNEH
ROUIA9—2 B:FvI—T4—Y e
- . #o4 | WUTHE 1:26.3 7-7-67 |39.0| - 6 | 441 | KIEBEK (EE)
6179 *j"':E/_jJU/ . - 54.0 (1172 (1) |AvEzEA
R:IVH—T B:AXA2aDvT U7 Ee]
'—S YR o7 | BEAH 1:26.7 9-10-8-8 [39.2| — | 4 | 439 |MEREF (ER)
7078 |FN=SVE 4540 @ (6) | IMEZEA
RNR—HNR BARNYFITIY Slitie
5 o4 | PUEE 1:26.8 10-11-11-9 | 38.8 | - 9 | 469 |JIEETF (£
8 7| U7ILNY—T )b #55.0 12 oy | VeSS
] RUFPNRAF A= BETYINYR—L 72 O i
°= ~ o6 | KA 1:26.9 1-1-1-2 | 40.5| — 3 | 419 |HEHEE (£)
915/5 f\\,j\_?‘"j/'\“ L . 4.0 (ze) (-11) | (@)_J PN
RTSWITAR B:F—ILIA LRZ gEtutes
10l8l11l Z=Fwn—r 6 ;fg%(:)ﬁﬂ 1:(2%.2 8-9-10-10 | 40.4| — | 11 | 538 %Eg (£5)
RFATAT = BRRATYILIL ) 5SS g
o3 _ o4 | RS 1:28.8 4-5-9-11 | 41.5| — 10 | 484 |FWEF (£B)
114 2 /’\\_’(/V'j_ﬁ 7U - 5.0 @ (3 |dmiats
RRZARD+—U7 #&:Jzzwvb PESRABUS
@ 1—F—&RIEL
13—7F+— 5,6,1,2,10,3,9,11,8,7,4
20—F+— 5,6,10,1,2,3,9,4,11,8,7
30—7+— 5,6,10,1,3,9,4,8,2,11,7
40—F+— 6,5,10,1,3,4,9,8,7,11,2
o ILRE
BB 6 40| [ D4R 1-6 340M e B 1-6 900 3EE 1-3-6 6,510
B B 6 1309 3-6 780M 5 & 1-6 1,310M 3EH 6-1-3 24,880M
1 230M 1-3 1,570M Ba 6-1 2,720M
3 370M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



